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Introduction
Examiners reported that this year’s paper represented a fair test, and candidate 
performance was consistent across all questions, with the exception of question 4 where 
some struggled. There is always a lot going on in US politics but in a presidential year 
there is more than usual, and many candidates drew on what they have been reading and 
watching in their answers. 

One message that comes across in the comments below on individual questions is the need 
for candidates to answer the question: despite all the efforts of teachers, candidates too 
frequently answer the question they have prepared rather than the one in front of them on 
the paper. 

There are different views on the role of an introduction to an essay but in an exam answer 
there is no point in candidates summarising the points they then go on to make in the body 
of the essay: they cannot be rewarded twice and the summary takes up time that could be 
spent more productively elsewhere.
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Question 1
Many candidates were clearly well prepared for a Latino question and there were a number 
of very good answers. The most effective and simplest structure was to look at each issue 
in turn; some were evidently hoping for a question either on why Latino voters support the 
two main parties or why they are an increasingly important voting group, and decided to 
reproduce that answer in any case. Points about issues emerged from this structure but a 
direct focus on the question is always better. Immigration is obviously a key issue: quite a 
few candidates wrote as though illegal immigrants have the vote, although some made the 
broader point that politicians’ attitudes to illegal immigrants are often taken as signifying 
their attitude towards the community of which immigrants are a part. If candidates knew 
one thing about the 2016 campaigns, it was Donald Trump and his ‘great wall’, and it 
frequently featured here. It was the sign of a better answer that Latinos were not treated as 
a homogenous whole, and there was a recognition that different issues might be important 
to different groups. Many referred to the Catholic background of most Latinos pre-disposing 
them against abortion rights, but the point was well made that, since most also vote 
Democratic, it could not be the most significant issue. Same sex marriage was often cited 
in the same connection but, according to most opinion polls, Latino attitudes have tracked 
those of the rest of the population and it would be a significant issue for only a few. 
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The strengths of this answer are its intelligence 
and command of detail, and the first side especially 
shows considerable knowledge of how immigration 
has featured in recent elections. The candidate does 
not imply, as many did, that illegal immigrants are 
able to vote, but could explain a little more fully why 
immigration does matter to many Latinos. There 
is also good supporting detail on the second side, 
although the 'mend it don't end it' speech is a little 
ancient now. Altogether, a good low Level 3 answer.

Examiner Comments

Short answers often read like a list and one of the 
pleasing features of this answer is the way in which 
the candidate links and qualifies their points. Thus the 
opening sentence isn't simply 'The first issue...' but 
rather 'The issue most often associated with...'. The 
second point is introduced with "Hispanics are not a 
'one issue group' though...". This gives the impression 
that the candidate has not just learned a series of 
points by rote but thought about and evaluated them.

Examiner Tip



8 GCE Government & Politics 6GP03 3C

Question 2
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This is a very typical low Level 3 answer. The 
analysis could not be called sophisticated 
but there are three clear and well 
explained points, all supported by relevant 
contemporary evidence. The answer could 
be improved by stronger linking – the 
structure is rather list-like – and more fuller 
explanation, e.g. in the first paragraph the 
term 'elitist' could be defined and expanded

Examiner Comments

Short answer structure – three different 
points clearly made in separate paragraphs 
work well as a structure for 15 mark answers.

Examiner Tip
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Question 3
As the Iowa caucuses had taken place less than six months before the exam was taken, 
it was to be expected that many candidates would have some knowledge of the caucus 
process, and its merits and drawbacks compared to candidate selection by primary. Some 
candidates in fact took the question to be about the Iowa caucuses specifically rather than 
the caucus process in general, and wrote unrewardably, for example, about issues created 
by frontloading.Weaker answers were unsure about some of the details and seemed to 
believe, for example, that the candidates were present at the caucuses, while others claimed 
that they were the preserve of ‘party bosses’, and there were the inevitable references, 
beloved of many candidates every year, to ‘smoke-filled rooms’. It was often stated that 
caucuses were advantageous in large states with small populations, although it was rarely 
explained why this should be so. Although the focus of the question was caucuses, it clearly 
required a comparison to primaries, but many answers mentioned primaries only in passing 
and made a comparison only implicitly. Stronger answers differentiated between different 
types of primaries and often showed knowledge of some the quirks of caucuses, such as the 
use of a coin toss to decide the winner in the event of a tie. 
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The strength of this answer is the sense of close engagement 
with the question. Throughout the answer, the strengths and 
weaknesses of caucuses and primaries are compared and the 
evidence for and against intelligently evaluated, for example, 
that 'wreckers' are by no means the majority. It is not 
completely comprehensive – the point that caucuses attract 
more ideological voters, which some answers made a lot of, 
is only added at the very end - and the point that caucuses 
are 'excellent' for states with dispersed populations is left 
unexplained. Nevertheless, a very good answer.

Examiner Comments

Answer the question – this is the oldest exam 
advice going but it is still routinely ignored by 
many candidates. You need to make it clear to the 
examiner that you are answering the question on 
the paper and not the one you hoped would come 
up. This candidate makes it clear throughout the 
answer that s/he is answering the question by 
consistently comparing primaries and caucuses.

Examiner Tip
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Question 4
Given that they were taking a politics exam, candidates should not have been too 
surprised by a question on affirmative action which asked them about its political impact. 
Nevertheless, many preferred to answer their own question and wrote instead about its 
wider effects on society, relying either on a range of ‘statistics’ on, for example, black 
graduation rates or on anecdotes about white patients’ reluctance to see black dentists. 
Quite a few also wanted to rehearse the arguments for and against affirmative action. 
Unfortunately, this all meant that in some cases there was very little to reward, while 
many others relied solely on the effects of affirmative action on minority representation 
in the three branches of government. Examiners interpreted the term ‘affirmative action’ 
as broadly as possible but, unfortunately, it could not be stretched to reward the many 
references to Brown v Topeka Board, nor could discussion of the civil rights movement 
and the subsequent legislation be rewarded. Stronger answers would typically devote a 
paragraph to the contribution of affirmative action to partisan polarisation, a paragraph to its 
effect on the Supreme Court and a final paragraph on state propositions. Many candidates 
would undoubtedly have had this knowledge but were unable to see how to deploy it.
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This was one of the best answers seen to this 
question and it is impressive in its clear focus on 
the question and intelligent handling of detail. It is 
likely though that many, perhaps a majority, of the 
candidates who struggled would have known the 
same 'facts' as the writer of this answer, but failed 
to recognise how they might use them.

Examiner Comments

Affirmative action is an important topic in 
the 'Racial and Ethnic Politics' section of the 
specification and when answering questions on 
it, avoid statistical and anecdotal evidence as 
far as possible, as it is rarely convincing. 

Examiner Tip
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Question 5
Most candidates had little difficulty assembling a range of points to use in answer to this 
question, which was generally well done. Weaker answers went awry in two different ways: 
they either made points which aren’t part of the theory of party decline, such as low election 
turnout, or to evidence which wasn’t correct, and claimed, for example, that split-ticket 
voting is on the rise or party control in Congress is on the decline. The continuing existence 
of factions within the major parties was also cited as proof of party decline and, as always 
happens with questions in this area, some candidates focused on the decline or revival of 
individual parties. There was plenty of evidence from this year’s politics for stronger answers 
to draw on, and the success of Donald Trump and near success of Bernie Sanders (a number 
of candidates referred to the Democratic primary being ‘stolen’ by Hillary Clinton) was used 
as evidence of parties’ decline (since the party ‘establishment’ had wanted neither) and their 
continuing relevance (as both had run in a major party primary rather than chance running 
as an independent). The injunction to ‘assess’ in the question required candidates to give 
some sort of judgement on the validity of the argument they were explaining, and the best 
answers made three points for decline and countered each one directly with a short piece 
of evidence: the use of ‘super-delegates’ was often used in this context, although there 
were surprisingly few references to the controversies surrounding their role in this year’s 
Democratic primary.



GCE Government & Politics 6GP03 3C 21



22 GCE Government & Politics 6GP03 3C



GCE Government & Politics 6GP03 3C 23

There are two approaches to 'assess' questions – the 
first adopted by most candidates is to add a qualifying 
judgment at the end of each paragraph, and the 
alternative seen here is to structure the answer as a mini-
essay in two halves – both are equally valid. This is a 
typical top Level 2/bottom Level 3 answer: the analysis is 
a little basic at times but there is also some good detail, 
for example the references to the 'Contract with America' 
and 'Six for 06'. The third paragraph is not totally 
unrewardable, hinting as it does at greater ideological 
coherence, but it is certainly not the strongest.

Examiner Comments

'Assess' – remember if the questions ask 
you to assess, you must comment on the 
significance of the points you make, for 
example their importance relative to each other, 
their changing significance over time, or the 
existence of evidence which weakens them.

Examiner Tip
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Question 6
Although this was a question that had not been asked before, stronger candidates were 
able to recognise that, with a little tweaking and reordering, they could readily make use 
of a lot of the material they had prepared. Typically these candidates would devote two or 
three paragraphs to Congress and then move onto other branches of government, quite 
frequently also discussing the potential of state governments as a route for pressure groups. 
Others lacked the knowledge to move away from their prepared answers and focused either 
on factors determining success, such as wealth or membership numbers, or methods, such 
as lobbying. Along the way they made points which were certainly rewardable but their 
answers lacked the consistent engagement with the question required to achieve high 
marks. Even where there was recognition that routes were the key term of the question, 
many responses did not address the issue of success: they would describe, for example, 
different ways a group might influence the Supreme Court, such as test cases or amicus 
briefs, without considering how likely they were to have the desired effect.
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A pleasing feature of this answer is that the candidate does 
not only explain the different methods available to pressure 
groups but considers the extent to which they are likely to be 
successful. Its weakness is that it deals with the Supreme Court 
relatively cursorily and the executive branch not at all.

Examiner Comments
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Question 7
This was the least straightforward question on the paper for examiners to mark because 
many of the answers were very similar. Whereas the answers to questions 6 and especially 
8 elicited a variety of approaches and evidence, the great majority of candidates reproduced 
the same structure and the same three or four points for and against the Electoral College, 
and the discriminating factor was solely the quality of the analysis, which itself often relied 
heavily on the textbooks. Possibly the single most frequently made point concerned the 
alleged over-representation of small states – almost invariably Wyoming – compared to the 
larger, and examiners saw a variety of mathematical representations of the relationship. As 
was true of answers elsewhere on the paper, some candidates still seemed to be thinking in 
UK terms, so that there were lots of references to the Electoral College producing a stable 
government. Nearly every candidate argued that Ross Perot had been hard done by in 1992, 
but only a few seemed to have worked out that, in an election for a single office-holder, any 
electoral system must inevitably produce a large number of ‘wasted’ votes. Some answers 
unrewardably extended the discussion to the primary season, and a few unfortunately 
concentrated on this exclusively. A very few candidates made the quite telling point that the 
WTA system, which is responsible for a good proportion of the Electoral College’s alleged 
merits and failings, is not stipulated anywhere in the constitution, and it is the responsibility 
of the states to adopt whatever system they choose.
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The strength of this answer is the sense of engagement 
with the question: arguments are not presented as a 
list but are evaluated and linked. Many answers to this 
question read very similarly, as though the candidates 
were reproducing what they had learnt by heart from the 
textbook, whereas this answer has a personal voice.

Examiner Comments

Try to bring out the connections between 
your arguments and give an indication of 
their relative significance.Your essay should 
read as an integrated whole rather than a list.

Examiner Tip
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Question 8
Every year these reports record that, when it features, the party long answer is the best 
response on the paper, and there were again some outstanding answers. The polarisation of 
the two parties means the overlap between them is undoubtedly shrinking, but only a very 
few answers were entirely one-sided. A number of candidates went back some years to the 
presidencies of Bill Clinton (‘the era of big government is over’) and George W Bush (‘No 
Child Left Behind’ was most frequently mentioned) to find evidence of overlap and, looking 
to the present day, candidates found common ground in the allegedly ‘hawkish’ elements 
of President Obama’s foreign policy. Some candidates cited the prominence this year of 
Donald Trump and Bernie Sanders as evidence that the parties are further apart than ever, 
while others, referring more closely to their actual policy pronouncements, found there were 
a surprising number of similarities between them. The ‘Blue Dog’ caucus was frequently 
mentioned but was often given more space than its size and influence merit.
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This is a not untypical Level 3 answer. The amount of detail 
this candidate is able to use is hard to find for the other unit 3 
topics and one of the reasons the parties question is often one 
of the best responses. Two features of this answer are the 'mini' 
conclusions which end each section and the references to the 
views of 'scholars'. They have their place in an academic work 
but add little that is rewardable to a 45 minute A level essay.

Examiner Comments
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Paper Summary
Based on the performance of this paper, candidates are offered the following advice:

•	 Provide short answer structures – three points developed fully or four points with less 
detail can both work equally well.

•	 With regard to introductions, don’t waste time summarising points you go on to make 
later on.

•	 With regard to conclusions, all long answers need a conclusion when the main argument 
is restated.

•	 Be very sparing in your use of statistics.

•	 Unless the figures you are using are very well known or very easily checkable, always 
cite a source.
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Grade Boundaries
Grade boundaries for this, and all other papers, can be found on the website on this link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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